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The ﬁgures in the margin indicate full marks
for the questions.

‘ Apswer either in English or in Assamese.

TR ol SRS Bet IR
'1'.\ Choose the correct answer - from the- following
‘ questxons ' 1x7=7

meeﬁwaﬁﬁﬁem.

(a) The graph by which we can locate various
partition values is known as

ﬁmmwﬁﬁ%ﬁﬁwmﬁﬁ
FRI Aicat o _ & cat =

@) Histogram

(i) Frequency ei_n've
4 @ |
[Turn over '



(iii) Cumulative frequency curve
AR IT]ATS =1 ‘

(iv) Frequency Polygon
AT T

_(b) The formula for semi-intell'quartile' range is
- ud e gl AT ! '

M 3@Q-Q) @ 7@Q-Q
(i) 3©Q - Q) ™ 3Q - Q)

() Sthndai'd deviation is the minimum value of

-amﬁasﬁwm wmwr

(i) ‘Mean square deviation
% 35f [oem

(ii) Root mean square deviation
3E g I Reew

(iii) Variance
A 3] R

(iv) Co-efficient of variation

Rowt o a1 1ot
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(d) Which of the followmg statement (s) is/are
true ? ‘
wee fim @sﬁt‘ﬁr/@m@aﬁ Rt om ¢

I._. The series having lesser c.v. is said to |
‘be more consistent than the other.

@I @Bl TR ReeeR wds oW @Bt
Nt 7 TE GG R Reset
WC&W@%‘Q’M

- II. The series having lesser c.v. is said to be
less consistent than the other.

R B TR RO O S Bl
N T TE Gl T Rewd "
SR ITetE I 7L

III. The series having greater c.v. is said to
be more consistent than the other.
@I B TR o e @i Bt
N SIE T CRGE &N [e
ST IO I | -

- IV.. The series having greater c.v. is said fo -
be less consistent than the other. .

-mmmﬁaﬁmewmaﬁ
T ol TE GG &N [ved
ol et AR 29

®1 G
© i)l and I . (iv) I and IV
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() The co-efﬁcienf of Kurtosis is given by

(l) B2 p32/ p‘z , (ii) Bz = ”’3/ p’za )
(i) B, = w1, (iv) Bz
(f) The strength of 7 colleges in a mty are 385 ‘

1748, 1343, 1935, 786, 2874 and. 2108 Thus
the median strength is

maax«mwﬁwwwmm
- 385, 1748 1343, 1935 786, 2874‘511@'»2108 '

mmjmmfa S -
M 133 (i) 1935 |
| (i) 1748 (iv) 786

(g) The céndmon for the cons1sténcjr' of a Set .of
independent class frequency is that no -
ultimate class frequency is

mwmﬁwaﬁﬁcﬂmﬁms@
fam@mwﬁaw ﬁml

(i) Zero (F0)

(ii) Positive (W)‘

(iii) Lies between 0 and 1
0 9% 13 TS

(iv) Negativé. () |
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2. Answer the following questiqns briefly : ZX4?8

(@ Form an ordmary frequency table from the:

following data :
wTe @Al SYN Al Q4 FHRY IR
il e s o

" Daily wage ~ No. of workei's
W TGSt AR WY
Below Rs. 100 150

© 100TR oS -

- Below Rs. 200 280
200 5 WIS . N
Below Rs. 300 . 400
300 TR ToTO -

(b) Mention four requisiti&s of an ideal measure
- of central tendency.
- o (- ogfe] WMol vff wna?‘m fﬁﬁs
Bif5t B ML
~ (c) Write- down four demerits of median.

g GIRE WhY RIw- Bt

(d) Give one example where two ‘variables are -
uncorrelated  but not mdependent
Wﬁ @iE Y TLAE FES o -

W — o1 izt famt :
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3. Answer any three questlons ﬁ'om the following :
5%3=15

(a) Prove that lg r(x,y) <1’

. where- r(x, y) is the correlatlon coefficient
between x and Y. '

amiet TR —1< 1 (X, Y) <i
r(x, y){‘ﬁxmyﬁwmﬁw .
(b) Draw the histogram and 'ﬁeqﬁeﬂcy curve - €
‘ from the following frequency table: ~
S IR AT G W WA
- Age (in years) - No. of students
W (IFO) -  uER WY
2-5
. 5-11
11-12
12-14
" 14-15 -
'15-16

W - N
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(c) Calculate Mean and Standard deviation from

the - following frequency table:

. Mg o ANfe Roew Wdfm =t |
Age (in years) No. of students

T (ITS) Qe WY
. 20-30 3
130-40 61
. 40-50 " C132
50-60 . 153
. 60-70 - - 140
- 70-80 - 51
8090 2

(d) Prove that, the nth order d1v1ded difference
of a -polynomial of nth degree is constat,

eIt 1 (¥, n AST Ol ILR now Reifers

WY Bl &R\

(e) Write a note on association between two
attributes A and B.

AWBm@ﬁwmemaﬁm

ﬁvm
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4. Answer any three questlons from the followmg

' - 10x3=30
o ROF RFG 2w et w1 8
(a) () Huisa polynonnal of second degree ’

mx,thenﬁndthevalueof_[udxm
-termsofuo, p Y T 3

- wfiu mxmwﬁ'{ﬂ,m ju,dxa

’_ﬂtﬂuo,ul,nﬁmﬁ‘fﬂWI é
(u) If ps q, r and s be the successxve entries
. correspondmg to equldtstant arguments
‘' in a difference table, show ‘that when
. third. difference are takén into account,
" the entry corresponding to the arguments

- .. halfway between the arguments of q and
‘ris A+ -27B where A is the arithmetic -
‘mean of q and r and B is the arithmetic
mean of 3q—2p—s and 3r—2s-p.

M 99 R ARER R st 9
Wwﬁmmmp,-q,rw _'
S W (OrFmE (e (X TOIR AR
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-Wﬁ@ﬂ?ﬁﬁmqw'r%am@('
- RETE  weet aqﬁawmﬁs,'
| %R, TS A ¥ q W [ WA WG AE

BZs3q-2p - sWﬁS3r 2s — paw
SINII .

(b) Wnte down the general quadrature formula

and then obtain Simpson’s 3/8th rule. Also

obtain the value of log, 7 using the same. -
- 1+643=10

| mwwa’amwmﬁmwm |

(©

2/ B==Io7 3/8 wi RFscHt Bfereat| Cieo)
I I IR log, 73 w1 w7

Define “correlation between two variables.
Also discuss its different types with examples.
Prove that correlation coefficient is indepen-

dent of change of origin and scale.’
2+3+5=10

'.@WWWWWWIW_

SAPIPR SHIIFIZ G 411 &t A ¥,
W@WWWWWW'

“WWI
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(d) (1) How do you - determme mode of a
grouped frequency dlstnbu’uon graphi-

. cally ? _ 3
| .mﬁﬁmﬁﬁaﬁwmmwﬁs

Wi A IR ¢

(ii) Draw the Ogives for the 'folloWing data
-set : : 6+1=T .
were At W o[ wﬁ‘l@ SR == s

" Marks No. of studets

| T  wE W
0-10 4
10-20 8
20-30 o
30-40 15
0-50 12
50-60 8
6070 3

Hence obtam the medlan value
R Rl TGAR T T awn
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(e) Derive the regression line of Y on X and X
~ on Y using principle of least square. Why two
regression lines are used ? Also mention any

. -two propertles of regression co-efficient.
7+1+2=10" .

ST mw(YaeWX'mXaem

Y) o 3o Raws og SR Rl 91 o
Tl RN 9T I W 2 I
@ity R 01 o R St <=1

® @) Show that: 5
orgedt 3 |
pr=pr = 1 By - Wt p’,_zu{“ﬁ ----- +

Cm

(11) What is Sheppard’s correctlon for mo-
ments ? What are the corrections for the

| first four moments ? : 2+3f5
| BTG TR LI G- 5 2 ofels BifR

. YR el [ Roe
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